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AA-1338
(008) B.Com. (Part-II) (10+2+3)
Term End Examination, 2021-22

Direct Taxes Procedure & Practice (Paper-2)

Time : 3 hrs. | | Maximum Marks : 50

qde —

TH g9A1 % X JITT | T 99T B S THT 8 |
Attempt all questions. All questions carry equal marks.
[z#1E-1 / Unit-I]
. S T (g 65 W) & [eiiehd fereRor & S8t el ST Td h-HeriRor a9 2021-22 & ford 39
HI-hT I IO T

From the following particulars of Mr. G.C. Gupta (age 65 years), calculate his total income and tax

payable by him for the assessment year 2021-22 3
HRE-979T 9 91 fohran 3,00,000
(Rent received from Let-out Properties)

SEBIA oIt AT (STTepfer) (91T 112 & 3i=ia) 2,00,000
[Long-term Capital Gain (u/s 112) (Computed)]

g % AR & @Y (Profit from own Business) 6,00,000
Al | ™ (F%d) [Income from Lottery (Gross)] 80,000
& B 3T (Net Agricultural Income) 40,000
I e 2q ford T o1 W =t i araEt 20,000
(Repayment of Interest on Loan taken for Higher Education)

SEBIA oIl AT (IR 112A & ST=<II) 1,830,000

(Long-term Capital Gains) (u/s 112A)

FYqr/OR

fooooft fafRaw ¢ (@i €1) Write a note : (Any two)
g 87A u/s 87A

arRT 89(1)  u/s 89(1)

grT 80C u/s 80(6)

[Z%E-11 / Unit-11]

Teh P! % HI-TERYT 1 & dATd qa1ed | U HFI1 hl B 37 b IR qRAOM &l ST & 2
Discuss the main points of assessment of the company. How is the total income of a company

computed ?
(P.T.O.)
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ATIT/OR

ot T ST U g Ifaior aRar @T wat & q9T TEE 9@ A TR ST, F S § §EERN 2 |

31 TTd, 2021 HI THIG & a1 I & {0 qRAR qGT T & g fFfaiad of 4
(1) Th HFT & Ja=<Ih & @9 H 37 BT o 56,000
(2) WERI afoqfaat | =T (Fhd)

(37) o & 9 X (FAfaT 9T I & ST 9 fohar @) 18,400

(@) wwer qewiiEl & 99 W (TRER & o 9 fafsmnT fhar wn) 35,800
(3) HHM-THIT T R

(31) &t | 9 Heh 1,08,000

(@) D W W 1980 H IRAR & & 9 @Iar 140 84,600
(4) AR I AT :

(31) uRar & =R FHI T 1,90,000

@) uw wH § e 2w s 9 ufaffer & w0 | 9Eer § 20,000

(@) w9 4o | <O 42,000

() aoid & & H F &l 9T F T 19,900
(5) WA H¥AT b QM T ATHIT

(37) % 9 | S URAR & & § @I T (Fhd) 12,000

() &l Il & 9 H S I SEE F @ 24,000

qRER < G869 T & Sita 9T Tl T2 FHT Gieriedl 9 1d a6 I 32,000 6T YA T | -
9 2021-22 & T GRAR ST HeT T TG IRAN ERT 3T T 1 TOET HiIT |
Shree Gyaneeji is the Karta of a Hindu Undivided Family which consists of his three brothers (A, B

& C) as copartners. The family and the copartners had the following incomes for the year ended

31st March, 2021 : 3
(1) Salary of A as manager of a company 56,000
(2) Interest on Government Securities

(Gross) :

(a) In the name of A (investment made out of his salary) 18,400

(b) In the name of all copartners (investment made out of family funds) 35,800
(3) Rent from House Property : 3

(a) Ancestral House 1,08,000

(b) In the name of C, bought in 1980 out of family fund 84,600

(4) Income from Business :

(a) Family business income 1,90,000
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(b) Half share of income in a firm in which C is partner as a representative capacity 20,000

(c) Interest on capital from the firm 42,000

(d) Income from profession of B as a lawyer. 19,900
(5) Dividend on shares of Indian Companies :

(a) In the name of C bought out of family funds (Gross) 12,000

(b) In the name of C’s wife bought out of her Stridhan 24,000

Family paid ¥ 32,000 as life insurance premium on the policies taken on the lives of the male
members. Compute the total income for the assessment year 2021-22 and the tax payable by the
family.
[zE-111 / Unit-II1]
frrfafaa geeen & forfia adf 2020-21 & qred ST/ Wit U3 STH T WX STHT &l heldl Sid
T
(1) X, ST wRa # Fardr 2, & 9t @iedl @ 3 3T 1,00,000 (qeh) |
(2) Y, wRa & et B, g g2dis | g T 50,000 |
(3) Z, < AR ® & 8, & gaias ghgfodi © < & T 20,000 |
(4)
(5)

B, ST 9T ¥ (AT 8, % U a_a FF! ERT <F ATHIST T 40,000 |
T, 5t ART ¥ famdt 2, &t aE o & sTEias FOWl W < & T 10,000 |
Ascertain amount of tax deducted at source from the following income/receipts during the Financial
Year 2020-21.
(1) Lottery winning of ¥ 1,00,000 (gross) payable to Mr. X, resident in India.
(2) Winnings from horse-race¥ 50,000 payable to Mr. Y, non-resident in India.
(3) Interest on listed securities payable to Mr. Z, a resident in Indi& 20,000.
(4) Dividend payable by a domestic company to B, aresident in Indi& 40,000.
(5) Interest on unlisted debentures of Y Ltd. payable to T, a resident in Indi& 10,000.
TAT/OR
QT areit Bt g forfia aw 2020-21 # 51 YR ST UTSd B T STHAN B
Swarnima Varshney estimates her income for the current financial year 2020-21 as under X
HhE-99 T 9 3 (H-ar9) 1,86,000
[Income from House Property (Taxable)]
MR ¥ 3T (X T79) [Income from Business (Taxable)] 3,86,000
gioyfaat & & T o= @ (318,000 FXhRT Fiafodl T e |fed) 28,000

[Interest on Securities and other Interest (includin&g 18,000 interest on Govt. Securities)]
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feriia a9 2020-21 H SFHT-7T fAfei W € ERT ST fohd ST Tt STRM @Y b1 97 <l IO
T |
Compute Advance Tax and find out instalments for the financial year 2020-21.
[Z#3-4 / Unit-1V]
I et 679U e S e T a9 & SRl o feadil & 1 Bid g4 4T heErd & I8
g H Qi @ ST & | S Sereer S |
Mention the assets belonging to other but included in the Net wealth of an individual under the
Wealth Tax Act. Give suitable illustration.
TAT/OR
Tl @ Hedlioh & oo H -3 STTTEH & Il T HifT |
Explain the provisions of the Wealth Tax Act regarding valuation of assets.
[3@13-V / Unit-V]
TR o [IaR0T & ST T T & ? GTH-Y b (o1 BR[0T Ff HrAfafer & foear & awesy |
What do you mean by return of Wealth Tax? Explain the procedure of assessment for Wealth Tax in
detail.

ATqr/OR
e el & ey | fifsd fe @ g stfafeem & STrid R SUER IUeT § 2 Ha
LRECERIET S
What remedies are available under the Wealth Tax Act to a person aggrieved by the order of the

assessing officer? Discuss in brief.



